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iz

%ﬁl

—fiz, IEBIOAE N(u, 02) IZ6E> TV B MR X1, Xo, ..., X, IZXL,
=13 %~ N L)
- n Pt k ,LL, TLU

2
THHMS, WEED X 13 BX) =, V(X) = 1;); b BIERIHES. £,
S & IO, E(X)) = p, V(Xp) = 1172 LA 5,

B(X) =+ 3" B(X) =
k=1

— 1 < 1.172
V(X):p V(Xk) = 100
1

k=

LTy Rkoons, [66]~ [68|0EAREC @, @, ®L%2.
F7, P(-1.64<Z<164)=09 25, P(Z21.64)=0.05ThHd05,

X —5.90
P—=—22>164)=0.05
<1.17/\/10 = )

2135, [69 ]| 0%2A3OERD. T, T-590>0192 TH3H 5, JRERD Hy I3
BKHE 5% TRHS N, SEGBREVBRES kot iWisns, [70], [71 ] 0%
ZRIEIE @, @& % 5.
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